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Answer all theao

9

1. The equation bel ow shows achemqijgé" reaction that takes placein green plantsunder certain

conditions. f\*
Carbon (iv) oxide + Waterssg Glucose + X
N
@ 0) Whal\is‘the nameof substance X ? (Imark)
9
@\
(i) QfaQOther than reagents, state two conditions necessary for thisreaction (2marks)
@\'
(&
Q
@Qx
Q‘L‘ (i) Nametwo typesof cellsinwhichthisprocessoccurs. (2marks)
&
2
S
\\
{(0\ (v)  Nametheprocessrepresented by the equation above. (Imark)
(b) Namethefeaturesthat increasethe surface areaof thesmall intestines. (2marks)
2 €) What ismeant by theterm sex-linkage? (Imark)
(b) Nametwo sex-linked traitsin humans. (2marks)
(© In Drosophilamel anogaster, theinheritance of eye colour issex-linked. Thegeneof red
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eyeisdominant. A crosswas made between ahomozygousred-eyed femaeand awhite
eyed male. Work out the phenotypic ratio of F1 generation.
(Use R to represent the genefor red eyes) (5marks)




(2marks)
& (i) Givethreefeaturesthat enablesstructurelabelled X carry out itsfunctions. (3marks)
<<&
2
N
\\
&
(i) Nametypesof blood vesselsfoundinthestructurelabelled. (2marks)
(b) State themode of asexual reproductionin yeast. (Imark)
4, A response exhibited by acertain plant tendril isillustrated bel ow.
€) 0] Namethetype of response. (Imark)

(i) Explain how theresponsenamedin (a) (i) above occurs. (3marks)




O
&
&
(b) What istheimportanceof tactic re@aﬁf)ﬂ’q%to mi croscopic plants? (Imark)
&
R
(2
© State three gpplicatiog of plant hormonesin agriculture. (3marks)
N
2
A\
9
@\
5. Sciencecl ugzﬂiembersdesi gned an experiment as shown below. Examineit.
N\
> )
Q
<
&
e m pyrogallic
Q\e acid
2
@& soaked
<<°* bean seeds
IEE“?“ -i}% s %isi i =ij&: g -EEE
B
wet cotton
wool
The set up was kept at room temperaturefor oneweek.
@ What wastheaim of the experiment? (Imark)
(b) What observation was made after oneweek. (2marks)
A
B
(© (i) Explaintheroleof water in seed germination. (3marks)
(ii) Other than water, what two environmental factorsarerequired for seed

germination. (2marks)
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2
Thefollowing daarepr&eentstbe%ievel opment indry massof germinating seedlingswithin
18 weeks. ‘

Time in weeks c’o\\O 1|2 |4)] 6 10 13 15 16 18

O

Drymassila,‘ 01, 2 32|10 18 32 44 45 44 38
grams @

(ax
€) gsﬁg suitable scalesplot agraph of dry massagainst time.
(X
(b) ((/Q With referenceto the graph, explain the changesin dry mass between;
{—@ ® week 0to 2
(i) week 5to 13
@iy  week 16- 18
(© ® What isthesignificance of timezero.
(i) What differencewill be expected from the aboveresultsif the experiment
started with two seeds? Giveareason for your answer)
(d) 0] Describe how you can carry out the experiment to obtain dry massinthe
respectiveweeks.

(i) State one advantage of using dry massinstead of freshweight in estimating
growth of anorganism.

Describethe adaptations of theskintoitsfunctions.
@ Definetheterm natural selectionwith referenceto evolution.

(b) Describe how natura selection brings about adaptation of speciestoits
environment.
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(6marks)

(2marks)
(2marks)

(2marks)
(Imark)

(2marks)
(4marks)
(4marks)
(20marks)
(2marks)

(18marks)



